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9 X 2 ZI.-WHG. BIS 50m? = 1 X 2 ZI.-WHG. BIS 50M2

konrath und wennemar
architekten ingenieure

2-zimmer - §5.2m?

2-zimmer - 58.3m?2

‘ / 2-zimmer - 49.4m?
v

4-zimmer - 91.8m? \/

2-zimmer - 49.4m?2

3 X 2 ZI.-WHG. BIS 65M2
2 X 3 ZI.-WHG. BIS 75M2

1 X 4 Z1.-WHG. BIS 90M?2

2-zimmer - 61.1m?2

2-zimmer - 49.4m?

2-zimmer - 49.4m?

2-zimmer - 58.3m?

3-zimmer - 75.9m?
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0 X 2 ZI.-WHG. BIS 50m2

3 X 2 ZI.-WHG. BIS 65M2
N 1 X 3 ZI.-WHG. BIS 75m2

1 X 4 ZI.-WHG. BIS 90m?2
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4-zimmer - 90.3m?

4 X 2 Z1.-WHG. BIS 65M2

; iy, OGGIA
' /l % 2-zimmer - 55.2m2 5 X 3 ZI.-WHG. BIS 75M2
I~ \ S

2 X 4 ZI.-WHG. BIS 90m?
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